	



	Animal Crackers
	


1. How many Animal Crackers does Austin, a division of the Keebler Company, say in their packaging information are in each bag?  
                      






______________

2. How do you think Austin determined this number?

____________________________________________________________________

3. Record the number of animal crackers in your bag on the table provided on the chalkboard.  Then copy the number of animal crackers in the bags of each of your classmates in the table below.

	Count of Animal Crackers in an Animal Cracker Bag

	Student
	Count
	
	Student
	Count

	1
	
	
	15
	

	2
	
	
	16
	

	3
	
	
	17
	

	4
	
	
	18
	

	5
	
	
	19
	

	6
	
	
	20
	

	7
	
	
	21
	

	8
	
	
	22
	

	9
	
	
	23
	

	10
	
	
	24
	

	11
	
	
	25
	

	12
	
	
	26
	

	13
	
	
	27
	

	14
	
	
	28
	


4. Create a dotplot for the class data of the number of Animal Crackers found in a bag of Animal Crackers in the space below.
(-----------------------------------------------------------------------------------------(
Number of Crackers per Bag
5.   Describe the above graph.  Be sure to describe the shape, center, and spread of the distribution.
6. How does the number of Animal Crackers in your bag compare to those of your classmates?  Explain.

7. Calculations

Enter the data into L1 in your calculator.  (STAT, 1: EDIT) 

a.  Calculate the mean number of Animal Crackers in each bag.  (1 VAR Stats)
b. Calculate the median number of Animal Crackers found in each bag.

c. Does the number of crackers per bag listed on the packaging match either the mean or the median?  If not, where is the packaging number in relationship to the mean?

d. What proportion of your class had at least the advertised number of cookies per bag?  (That number or greater.)

e. What is the standard deviation for the number of Animal Crackers in a bag? Write a sentence that describes what the standard deviation means in the context of this activity.
8. Let’s assume that the distribution of the number of Animal Crackers in a bag of Animal Crackers is normally distributed and that your class mean is a good approximation of the population mean.  
Use the Empirical Rule and your class mean and standard deviation to answer the following questions:
a. What approximately is the probability that a bag contains at least the amount of cookies listed on the Animal Cracker bag label?
b. How likely is it that someone would find less than the number of cookies listed on the label?
c. What is the probability that an individual finds more than the number of cookies listed on the label?
d. How do you now think that Austin comes up with the number of cookies per bag listed on the side of the bag?

	9.  Nabisco also sells animal crackers called Barnum’s Animal Crackers.
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	On the left is the label on the side of the 2.125 oz box of Barnum’s Animals.

a. Based on the label, how many cookies do you typically expect to find in a box?

b. How do you think Nabisco determined this number?

c. Will every box have this number of cookies?
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	The graph at right shows the distribution of the number of crackers in a sample of 28 Barnum’s Animal Crackers boxes.

d. The label on the box indicated that we should expect 16 cookies in a box.   Based on the graph and statistics at right, how likely is it that a box contains less than 16 cookies?




e. Why does Nabisco tell the consumer there are 16 cookies in a box?
f. Austin charges approximately $0.22 per 2 oz. bag of Animal Crackers, while a 2.125 oz. box of Nabisco - Barnum’s Animal Crackers costs approximately $2.29.    If you were the manufacturer of animal crackers, whose packaging plan would you follow: Austin’s or Nabisco’s.  Please explain the reasoning behind your choice.
